7/30/24, 11:33 AM Periscope Source: Bid Tabulation Report

Bid #BLD2128422B1 - Fire Hydrants, Extensions & Repair Kits

Creation Date May 29, 2024 End Date Jul 23, 2024 2:00:00 PM EDT

Start Date Jul 11, 2024 5:50:26 PM EDT Awarded Date Not Yet Awarded

Ferguson Enterprises Inc. \$180,497.20 (8/18 items)

Bid Contact **Jason A Mueller**matthew.gracie@ferguson.com

Address 2361 NW 22nd Street
Pompano Beach, FL 33069

Ph 954-973-8100 **Supplier Notes:** Agency Notes: Unit Price Qty/Unit Total Price Item# Line Item BLD2128422B1--01-01 Mueller: 36 inch Super Centurion Model No. 250 Fire Hydrant Supplier Product Code: Agency Notes: Supplier Notes: BLD2128422B1--01-02 Mueller: 48 inch Super Centurion Model No. 250 Fire Hydrant No Bids Agency Notes: Supplier Product Code: **Supplier Notes:** BLD2128422B1--01-03 Mueller: 48 inch Super Centurion Model No. 250/HS Fire Hydrant No Bids **Supplier Product Code: Agency Notes: Supplier Notes:** BLD2128422B1--01-04 \$2,882.50 Mueller: Super Centurions Model A423 Fire Hydrant, Lead-Free - First Offer 25 / each | \$72,062.50 **Product Code:** Supplier Product Code: AFCB84BLAOLP Agency Notes: **Supplier Notes:** Brand/Manufacturer Offered: American Flow Control Model/Part No. Offered: Darling B-84-B BLD2128422B1--01-05 | Mueller: Super Centurion Extension Kit (1ft - 0 inches) No Bids Agency Notes: Supplier Product Code: **Supplier Notes:** BLD2128422B1--01-06 Mueller: Super Centurion Extension Kit (1ft - 6 inches) No Bids Supplier Product Code: **Agency Notes: Supplier Notes:** BLD2128422B1--01-07 Mueller: Super Centurion Hydrant Extension Kit (6-inch) No Bids Supplier Product Code: Agency Notes: Supplier Notes: BLD2128422B1--01-08 Mueller: Super Centurion Hydrant Extension Kit (12-inch) No Bids Agency Notes: Supplier Product Code: Supplier Notes: BLD2128422B1--01-09 Mueller: Super Centurion Hydrant Extension Kit (18-inch) No Bids Agency Notes: Supplier Product Code: **Supplier Notes:** BLD2128422B1--01-10 Mueller: Super Centurion Traffic Flange Repair Kit, 5-1/4-inch, Model A-301, Lead-Free. No Bids Agency Notes: **Supplier Product Code: Supplier Notes:** BLD2128422B1--01-11 Mueller: Percent Discount from List Pricing for Miscellaneous Mueller Hydrant Repair Part No Bids Agency Notes: **Supplier Product Code:** Supplier Notes: **Lot Total:** \$72,062.50 **Qty/Unit Total Price** ltem# Line Item **Unit Price** BLD2128422B1--02-01 \$2,882.50 25 / each \$72,062.50 American Darling: Fire Hydrant, Model No. B84-B-5, Lead-Free - First Offer **Product Code: Supplier Product** Agency Notes: Code: AFCB84BLAOLP **Supplier Notes:**

Brand/Manufacturer Offered:

7/30/24, 11:33 AM Periscope Source: Bid Tabulation Report

/30/24, 11:33 AIVI	Periscope Source: Bid Tabulation Report				
		American Flow Control Model/Part No. Offered: Darling B- 84-B			
BLD2128422B102-02	American Darling: Hydrant Extension Kit, (6-inch), 4-1/2-inch Mark-73, 5-1/4-inch B-84-B - First Offer	\$616.64	10 / each	\$6,166.40	
Product Code: Agency Notes:		Supplier Product Code: AFCMK73U Supplier Notes: Brand/Manufacturer Offered: American Flow Control Model/Part No. Offered: AFCMK73U			
BLD2128422B102-03	American Darling: Hydrant Extension Kit (12-inch), 4-1/2-inch Mark-73, 5-1/4-inch B-84-B - First Offer	\$720.29	10 / each	\$7,202.90	
Product Code: Agency Notes:		Supplier Product Code: AFCMK7312 Supplier Notes: Brand/Manufacturer Offered: American Flow Control Model/Part No. Offered: AFCMK7312			
BLD2128422B102-04	American Darling: Hydrant Extension Kit, (18- inch), 4-1/2-inch Mark-73, 5-1/4-inch B-84-B - First Offer	\$820.00	5 / each	\$4,100.00	
Product Code: Agency Notes:		Supplier Product Code: AFCMK7318 Supplier Notes: Brand/Manufacturer Offered: American Flow Control Model/Part No. Offered: AFCMK7318			
BLD2128422B102-05	American Darling: Hydrant Extension Kit (24-inch), 4-1/2-inch Mark-73, 5-1/4-inch B-84-B - First Offer	\$925.62	5 / each	\$4,628.10	
Product Code: Agency Notes:		Supplier Pro Code: AFCM Supplier No Brand/Man American Flo Model/Part AFCMK7324	K7324 otes: ufacturer (ow Control No. Offere		
BLD2128422B102-06	American Darling: Hydrant Traffic Repair Kit, 4-1/2-inch Mark-73, 5-1/4-inch B-84-B - First Offer	\$356.87	40 / each	\$14,274.80	
Product Code: Agency Notes:		Supplier Product Code: AFCMK73TRK Supplier Notes: Brand/Manufacturer Offered: American Flow Control Model/Part No. Offered: AFCMK73TRK			
BLD2128422B102-07	American Darling: Percent Discount from List Pricing for Miscellaneous American Darling Hydrant Re - First Offer	2.00%	1 / each	2.00%	
Product Code: Agency Notes:		Supplier Pro		: AFC Parts	
- -				108,434.70	
Bid Allowance				\$30,000.00	

Dia contact Jame cine		, talan 255 , 225 1101 411	=	-	
jordan.mccall@fortiline.com		Concord, NC 28027			
Ph 704-7					
Fax 813-	626-7773				
Agency Notes:			Supplier Notes:		
ltem #	Line Item		Unit Price	Qty/Unit	Total Price
BLD2128422B101-01		Mueller: 36 inch Super Centurion Model No. 250 Fire Hydrant - First Offer	\$2,628.23	3 / each	\$7,884.69
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Brand/Manufacturer Offered: Mueller Model/Part No. Offered: 423-533036		
BLD2128422B101-02		Mueller: 48 inch Super Centurion Model No. 250 Fire Hydrant - First Offer	\$2,756.43	3 / each	\$8,269.29
Product Code: Agency Notes:			Supplier Product Code: Supplier Notes: Brand/Manufacturer		

Fortiline, Inc.

Bid Contact **Julie Cline**

\$135,377.41 (10/18 items)

Address 7025 Northwinds Drive, NW

Periscope Source: Bid Tabulation Report

		Offered: Muelle Model/Part No.		-529425
BLD2128422B101-03	Mueller: 48 inch Super Centurion Model No. 250/HS Fire Hydrant - First Offer	\$3,568.18	3 / each	\$10,704.54
Product Code: Agency Notes:		Supplier Production Supplier Notes: Offered: Muelle Model/Part No.	ct Code: Brand/Manu	ıfacturer
BLD2128422B101-04	Mueller: Super Centurions Model A423 Fire Hydrant, Lead-Free - First Offer	\$2,756.43	25 / each	\$68,910.75
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Offered: Muelle Model/Part No.	: Brand/Man u r	ıfacturer -1-040-623-1085-
BLD2128422B101-05	Mueller: Super Centurion Extension Kit (1ft - 0 inches) - First Offer	\$580.39	3 / each	\$1,741.17
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Offered: Muelle Model/Part No.	Brand/Manu r Offered: A32	
BLD2128422B101-06	Mueller: Super Centurion Extension Kit (1ft - 6 inches) - First Offer	\$1,018.69	3 / each	\$3,056.07
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Offered: Muelle Model/Part No.	Brand/Manเ r	
BLD2128422B101-07	Mueller: Super Centurion Hydrant Extension Kit (6-inch) - First Offer	\$764.50	13 / each	\$9,938.50
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Offered: Muelle Model/Part No.	Brand/Manu	
BLD2128422B101-08	Mueller: Super Centurion Hydrant Extension Kit (12-inch) - First Offer	\$580.39	10 / each	\$5,803.90
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Offered: Muelle Model/Part No.	: Brand/Man u r	
BLD2128422B101-09	Mueller: Super Centurion Hydrant Extension Kit (18-inch) - First Offer	\$1,018.69	10 / each	\$10,186.90
Product Code: Agency Notes:		Supplier Produc Supplier Notes: Offered: Muelle Model/Part No.	: Brand/Man เ r	
BLD2128422B101-10	Mueller: Super Centurion Traffic Flange Repair Kit, 5-1/4-inch, Model A-301, Lead-Free First Offer	\$317.20	28 / each	\$8,881.60
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Brand/Manufacturer Offered: Mueller Model/Part No. Offered: A301		
BLD2128422B101-11	Mueller: Percent Discount from List Pricing for Miscellaneous Mueller Hydrant Repair Part			No Bids
Agency Notes:		Supplier Product Code: Supplier Notes:		
				tal: \$135,377.41
Item#	Line Item	Unit Price	Qty/Unit	Total Price
BLD2128422B102-01	American Darling: Fire Hydrant, Model No. B84-B-5, Lead-Free			No Bids
Agency Notes:		Supplier Produc Supplier Notes:		
BLD2128422B102-02	American Darling: Hydrant Extension Kit, (6-inch), 4-1/2-inch Mark-73, 5-1/4-inch B-84-B			No Bids
Agency Notes:		Supplier Produc Supplier Notes:		
BLD2128422B102-03	American Darling: Hydrant Extension Kit (12-inch), 4-1/2-inch Mark-73, 5-1/4-inch B-84-B			No Bids
Agency Notes:		Supplier Produc Supplier Notes:		
BLD2128422B102-04	American Darling: Hydrant Extension Kit, (18- inch), 4-1/2-inch Mark-73, 5-1/4-inch B-84-B			No Bids
Agency Notes:		Supplier Produc Supplier Notes:		
BLD2128422B102-05	American Darling: Hydrant Extension Kit (24-inch), 4-1/2-inch Mark-73, 5-1/4-inch B-84-B			No Bids
Agency Notes:		Supplier Produc Supplier Notes:		

7/30/24, 11:33 AM

Periscope Source: Bid Tabulation Report

BLD2128422B1-02-06	American Darling: Hydrant Traffic Repair Kit, 4-1/2-inch Mark-73, 5-1/4-inch B-84-B		No Bids
Agency Notes:		Supplier Product Supplier Notes:	Code:
BLD2128422B1-02-07	American Darling: Percent Discount from List Pricing for Miscellaneous American Darling Hydrant Re		No Bids
• •		Supplier Product Supplier Notes:	Code:
			Lot Total: \$0.00
Bid Allowance			\$30,000.00

C**l**ose Print